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With the following specifications draw to a scale of 1: 50 elevation, sectional plan and sectional

elevation of a fully panelled double lear (shutter) door.

Opening in the wall 1200 mm. x 2000 mm.

Chowkhat - 100 mm. x 75 mm.

Top and Frieze Rails- 100 mm. x 45 mm.

Lock rail -200 mm. x 45 mm.

Bottom rail-175 mm. x 25 mm.
Hanging and meeting styles-100 mm. x 45 mm.

Thickness of panel -30 mm. and tapered to 20 mm.

Chowkhats are fixed to the wall by means of 300 mm. x 40 mm. x 60 mm. iron holdfast 3 Nos. on each

side.

1.2





(For a Glazed Window). Draw to a scale of 1: 10 or 1: 15 the front elevation, sectional plan and sectional elevation of a

glazed window for an opening of 1200 mm. x 1100 mm. Size of Rails and Styles are 70 mm. x 40 mm. and thickness of

glass 4mm.



Design the foundation for a residential building with the following data:

Load per metre length on the soil of the wall 11.5 tons

Safe bearing capacity of soil 13 t/sq.m.

Angle of repose of soil = 30°

Thickness of superstructure wall. = 30cm

Density of soil 1=1600 Kg/cum



A sq. R.C.C. Column 450mm x 450mm is to rest on a

sloped R.C.C. square footing. The column carries a

total load of 60 tones (600 KN). The S.B.C. of the soil

is 15t/m2 (150KN). The depth of the foundation is
1.5m below G.L. The depth of footing is reduced

from 750mm at the face of the column to 300mm at

the edge of the footing. The column reinforcement

consists of 8 bars of 20mm with 8mm stirrups at 200

mm c/c and the footing reinforcement consists of
12mm bars at 150mm c/c both ways. Draw to a

suitable scale, the vertical section and plan of the

footing showing the reinforcement details.



Sketch the plan and elevation of a dog-legged staircase with the following details:

No. of flights : 2;

No. of steps in each flight: 10;

Rise of each step : 150 mm;
Tread : 250 mm;

Width of flight : 1000 mm;

Height of each flight : 1650 mm.

Any missing data may be suitably assumed.



Draw to a scale, the longitudinal section and cross sections at mid span and at supports, of a

R.C.C. T-beam supporting a R.C.C. slab for a hall of 10m x 6m. Given the following data.

Clear span of beams 6m;

Wall thickness 300mm ;

Spacing of beams 3m c/c ;

Clear depth of beams 550mm;

Width of rib 225 mm;

Slab thickness 150mm;

Main reinforcement in beam is 8 bars of 22mm dia.;
Shear reinforcement is 10mm dia.

2 legged vertical stirrups at 100mm c/c from the end up to 1/5 span.

Hanger bar is 2 nos. 10 mm dia.

Slab reinforcement consists of 12mm dia. at 120mm c/c.

Distribution steel is 6mm dia. at 250mm c/c.





Draw a plan, elevation and 3D isometric view of a staircase.

1.3 & 1.4



Chapter 2
Plan, Elevation and Sectional 

Elevation of Flat Roof Building from 
the line diagram and given 

specification with use of AutoCAD 
Software



Draw a plan at window sill level of a single storeyed R.C. roof slab building with elevation and sectional views form line

diagram and specification given below.

Door size

D1 = 1100mm x 2100mm
D2 = 1200mm x 2100mm

Window size

W1 = 1000mm x 1200mm

W2 = 1200mm x 1200mm

Ventilator = 1000mm x 600mm
Wall thk. = 300mm

Plinth height = 600mm

Slab thk. = 100mm

Ceiling height = 3300mm

Any other necessary data may be assumed.

2.1





Draw a detail drawing of Double storeyed pucca building with R.C.C. stair case from line diagram and

specification given below.

Door size

D1 = 1100mm x 2100mm
D2 = 1200mm x 2100mm

Window size

W1 = 1000mm x 1200mm

W2 = 1200mm x 1200mm

Ventilator = 1000mm x 600mm
Wall thk. = 300mm

Plinth height = 600mm

Slab thk. = 100mm

Ceiling height = 3300mm

Any other necessary data may be assumed.

2.2





Chapter 3
Plan, Elevation and Sectional 

Elevation of Inclined Roof Building 
With AC Sheet/GCI/Tiles on Wooden 

Structure with use of AutoCAD 
Command



A linc plan of a residential building is shown in Figure. Prepare working drawing by using following data :- (All

dimensions are in mm)

(a) Depth of foundation - 800,

(b) P.C.C. (1:4:8) for foundation bed - 150 thick.
(c) Plinth height - 450

(d) U.C.R. masonry in c.m. (1:6) for foundation and plinth,

(e) Superstructure in B.B.masonry in c.m. (1:6) 300 thick for all walls, cxcept bath and W.C. internal walls which are

100 thick,

(f) Height of bed room and sanitary block from plinth level to bottom of slab is 3000, except front verandah which

has 2500 height.

(g) For pitched roof, height of bottom of tie beam above plinth level 3500.

(h) R.C.C. (1:2:4) slab 120 thick with 150 projection.

(i) Mangalore tiled roof projection 450.

(j) Mosaic tiled flooring 20 thick over 80 thick C.C. (1:3:6) bed, for all rooms, passages etc. and white glazed tiles with

dado for W.C. and bath.
(k) Locate the doors, windows at proper places and provide parapet walls for front and rear verandah, built- in-

cupboards, wash hand basin, kitchen platfrom etc. Assuming any other data required, draw the following :-

(i) Plan.

(ii) Front clevation.

(iii) Scctional elevation along AB.
(iv) Schedule of doors and windows.







Chapter 4
Building Planning



Draw a 2BHK plan of plinth area of 100sq.m. The plinth area rate = 8000/sq.m.

4.1



Draw a 2BHK line diagram of building with location of opening and living areas with orientation.

4.2



Design of a School Building : Prepare a single line diagram for school with the following requirements.

1. Entrance Hall =48sq.m

2. 5 Nos. of class room =45sq.m each

3. Sanitary block (2 Nos.) = 12sq.m.

4. Headmaster and his office = 36sq.m

5. Staff room = 24sq.m

6. Laboratory (2 Nos.) =72sq.m

7. Preparation room =13sq.m.

8. Ladies room = 24sq.m.
9. Multipurpose Hall = 20sq.m.

4.3



Draw a hostel of 230 sq.m. having 50 Nos of bed in total building.



Draw a line plan of a market complex building having area of each shop = 300cm x 500cm size (No of room in a single

floor =8).



Prepare a single line diagram for a Health Centre with the following rerequirements.

1. Waiting hall = 42sq.m.

2. Office =15wq.m.

3. Doctors room = 12sq.m.
4. Technician's room = 20sq.m.

5. Lady doctor’s room = 12sq.m

6. Dispensary =12sq.m

7. Store = 7.5sq.m.

8. Nurse’s room = 9sq.m.
9. 2Nos. of General toilets, one fir Gents & other for Ladies (suitable).

10. Generous Verandah.




